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Mulhple Choice Questions- Use answer sheet provided.

| Queshon 1 (5 Marks) . - S Marks
“ p 2 @ Simplify ,Za,b/ 9a’c? , ‘ 1
. 2d4 3[156‘ 3 53 Pl
&) B = o 228 3a’c
3050 . 2([4 ( ) Zd-'le ' ) (D) Zdj
.. . Ay ® Simplify 2x% - 3xy—3x(2y—3x):
“ROWTITER ET . SUAVITER | : i
) @) 15’ -3 ®) 11x’ 9%y
© ~7x'-9xy D) -7x*-3xy '
o ) (f:) ' The rule of the function whose graph is shown below: 1
z / L @
Mathematics ¥
Prelii_nin’ary Course Task 1 ,\ st
General Instructions < P
o  Working time— 45 minutes B 5
o  Write using black or blue pen , ‘ 51
o Board-approved calculators may be used , :
¢ - All necessary working should be shown on
every question :
' (A) y=|x|-4 ®) y=|x+2-2
Question | Question | Question | Question | Question | Total : . .
. 1 2 3 4 5 (© y=|x-2+2 @) y=[2-x-2
Number /0 v /6 o2 18 ; ' :
Algebra AR 5/8 i : 21121 .
Functions ~ 3] ' S 0] ;A3 RS !
‘ 7 /5 1 10 - /10 = I7 A0 = Y42 o .
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Marks

@ If f(x)=x"+5x and g(x)=4x-3,find f ( g (2)) 1 Question 2 (10 Marks) Start a New Page
ST e (a) 651
@S . / - Evaluate %5—1 correct to 3 significant figures.
by
®B) 18 _ /
© . 69 » / v (b) Expand and simplify 2\/’5 (3\/5 _\/E)
(D) 150 , © e . .4
' ~ Rationalise the denominator on
‘ V543
@ 2
: Simplify 72
©) (a) Which of the following is NOT a function? 1 n-3
® @ ) Factorize fully: 27 +64x
¥ y
A ot Question 3 (10 Marks) Start a New Page
x -
‘ @ Express 0.125 as a fraction in simplest form, showing all
working.
© - T ' )] ® -1 x*—3x
Simplify ——x ingle fraction in simplest
y y implify v—3 22 aszlxs gle )
form.
R : .
\ J X * (c) Solve simultaneously:
@ 3x+2y=10
x+4y=5
(iD) y=x*+x-12
y=3-x
()] Solve 2-3x<17
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Question 4' (7 Maiks) Start a New Page
(a) Solve: ‘
(@) 5(x-3)-3(2x+9)=1

m-=17 m

ii +3
@ 2 4

(b) Solve the equation by completing the square:

x*—10x=11

Question 5 (10 Marks) Start a New Page

(a) Explain why each of the following relations are functions or not?
(i) The relation x = y*

(ii) The set of ordered pairs (1, 2), (1, 3), (2, 3) (3, 4)

(b) Given fx)=x*+5x, find f(x+h)

(c) Sketch the graph of each function on separate number planes showing all
relevant features, and state the domain.

@ y=x"+4
@) yodr—i?

@) y=vix
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_::r_ LTt —'._-@;—(i(g‘ﬂ—(gi\)—‘q:i‘"—'
e Q)0 S(x=3) -3 (2209 )
Sx =195 - bx-27 =
~12C —{/ﬁl 7: |
= = 4
/- J[/ j
-
§ L :[/
_ n_M-7 - N —3
2 4
) +5 %
M="7 M = 3
2 4
2(m=7)-m =12
2m-i4-m=12
m-14 =12 i
m = 2 V]
b) | x* -j0x =)

x> ~10x * {-5)1= M-S

(x—S)2 = SQ

2w -3 = *JEZ

x-5 :ié

x = 5*f
X = S+h . of
oL :)/

| _—Queston  S:

i_x=qg”
[
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li_The sel of ordpred pairs

(//2)(’/-3),( 2,3)

IS _hot 0 funchon gy

(02), (1,3)

by

f(::j = a2 4 5%

flx4h) = (2ceh)™ 4 S (xth)

Plxth) = x?242xh +h* ¢S

¢)

i_y=*r4
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